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Question 1  Primary 5 Maths » Primary 5 Maths (Term 2) 1 pt

Express 6.016 as a fraction in its simplest form

Accepted answers:

6 2/125

62/125

6 2/ 125

6 2 /125

6 2 / 125

Question Type: Free Text
Date Added: Wed 15th Sep 2021
Last Modified: N/A
QID#: 29,024,848

Correctly answered feedback
6.106= 6 6/1000 
= 6 2/125

Incorrectly answered feedback
6.106= 6 6/1000 
= 6 2/125

 Answers |  Edit  |  Duplicate  |  Used In |  Reorder Remove From Test
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Question 2  Primary 5 Maths » Primary 5 Maths (Term 2) 1 pt

In the number 147 096, how many tens are there in the value of the digit 4?

Accepted answers:

4000

Question Type: Free Text
Date Added: Wed 15th Sep 2021
Last Modified: N/A
QID#: 29,024,853

 Answers |  Edit  |  Duplicate  |  Used In |  Reorder Remove From Test

Question 3  Primary 5 Maths » Primary 5 Maths (Term 2) 1 pt

Write 7 hundreds, 3 ones, 6 tenths and 2 thousandths in numerals.

Accepted answers:

703.602

Question Type: Free Text
Date Added: Wed 15th Sep 2021
Last Modified: N/A
QID#: 29,024,861

 Answers |  Edit  |  Duplicate  |  Used In |  Reorder Remove From Test

Question 4  Primary 5 Maths » Primary 5 Maths (Term 2) 1 pt

What is the highest common factor of 16 and 36?

Accepted answers:

4

Question Type: Free Text
Date Added: Wed 15th Sep 2021
Last Modified: N/A
QID#: 29,024,864

 Answers |  Edit  |  Duplicate  |  Used In |  Reorder Remove From Test

Question 5  Primary 5 Maths » Primary 5 Maths (Term 2) 1 pt
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Question Type: Essay
Date Added: Wed 15th Sep 2021
Last Modified: N/A
QID#: 29,024,877

Correctly answered feedback

Incorrectly answered feedback

 Answers |  Edit  |  Duplicate  |  Used In |  Reorder Remove From Test
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Question 6  Primary 5 Maths » Primary 5 Maths (Term 2) 1 pt

Ming hui mixed 2.9 litres of water with 0.98 litres of syrup to get orange juice. He then poured the
orange juice into 4 containers. What was the volume of orange juice in each container in millilitres?

Accepted answers:

970ml

970 ml

970

Question Type: Free Text
Date Added: Wed 15th Sep 2021
Last Modified: N/A
QID#: 29,024,892

Correctly answered feedback
2.9+ 0.98 = 3.88 
1L = 1000ml 
3.88 L = 3880 ml 
3880ml ÷ 4 = 970

Incorrectly answered feedback
2.9+ 0.98 = 3.88 
1L = 1000ml 
3.88 L = 3880 ml 
3880ml ÷ 4 = 970

 Answers |  Edit  |  Duplicate  |  Used In |  Reorder Remove From Test

Question 7  Primary 5 Maths » Primary 5 Maths (Term 2) 1 pt

Question Type: Essay
Date Added: Wed 15th Sep 2021
Last Modified: Wed 15th Sep 2021
QID#: 29,024,895
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Correctly answered feedback

Incorrectly answered feedback

 Answers |  Edit  |  Duplicate  |  Used In |  Reorder Remove From Test

Question 8  Primary 5 Maths » Primary 5 Maths (Term 2) 1 pt

Mr Goh bought a table and 5 chairs for $612. 
Each table cost 4 times as much as a chair 
How much did he pay for a chair?

Accepted answers:

$68

$ 68

68

Question Type: Free Text
Date Added: Wed 15th Sep 2021
Last Modified: N/A
QID#: 29,024,908

Correctly answered feedback
table + 5 chair = 612 
T=4C 
4C+5C = 612 
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9 C = 612 
C = 68

Incorrectly answered feedback
table + 5 chair = 612 
T=4C 
4C+5C = 612 
9 C = 612 
C = 68

 Answers |  Edit  |  Duplicate  |  Used In |  Reorder Remove From Test

Question 9  Primary 5 Maths » Primary 5 Maths (Term 2) 1 pt

Accepted answers:

77

Question Type: Free Text
Date Added: Wed 15th Sep 2021
Last Modified: N/A
QID#: 29,024,917

Correctly answered feedback
22÷2=11 

11x7=77

Incorrectly answered feedback
22÷2=11 

11x7=77

 Answers |  Edit  |  Duplicate  |  Used In |  Reorder Remove From Test

Question 10  Primary 5 Maths » Primary 5 Maths (Term 2) 1 pt
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Accepted answers:

96cm2

96 cm2

96

Question Type: Free Text
Date Added: Wed 15th Sep 2021
Last Modified: N/A
QID#: 29,024,922

Correctly answered feedback
4x3=12 
4+12=16 
1/2x12x16=96

Incorrectly answered feedback
4x3=12 
4+12=16 
1/2x12x16=96

 Answers |  Edit  |  Duplicate  |  Used In |  Reorder Remove From Test

Question 11  Primary 5 Maths » Primary 5 Maths (Term 2) 1 pt

During a PE lesson, 10 students stood in a straight line at an equal distance apart from one another.
The distance between the 1st and the 3rd student was 4m. What was the distance between the 4th and
9th student?

Accepted answers:

10m

10 m

10

Question Type: Free Text
Date Added: Wed 15th Sep 2021
Last Modified: N/A
QID#: 29,024,932

Correctly answered feedback
4÷2=2 
9-4=5 
5x2=10

Incorrectly answered feedback
4÷2=2 
9-4=5 
5x2=10

 Answers |  Edit  |  Duplicate  |  Used In |  Reorder Remove From Test
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Question 12  Primary 5 Maths » Primary 5 Maths (Term 2) 1 pt

Accepted answers:

$9

$ 9

9

Question Type: Free Text
Date Added: Wed 15th Sep 2021
Last Modified: N/A
QID#: 29,024,937

Correctly answered feedback
3+4+2=9

Incorrectly answered feedback
3+4+2=9

 Answers |  Edit  |  Duplicate  |  Used In |  Reorder Remove From Test

Question 13  Primary 5 Maths » Primary 5 Maths (Term 2) 1 pt

Accepted answers:

40

Question Type: Free Text
Date Added: Wed 15th Sep 2021
Last Modified: N/A
QID#: 29,024,943
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Correctly answered feedback
Red: Blue : Total 
24÷3=8
8x4=32 
32÷4=8
8x5=40

Incorrectly answered feedback
Red: Blue : Total 
24÷3=8
8x4=32 
32÷4=8
8x5=40

 Answers |  Edit  |  Duplicate  |  Used In |  Reorder Remove From Test

Question 14  Primary 5 Maths » Primary 5 Maths (Term 2) 1 pt

Accepted answers:

$97.50

$ 97.50

97.50

Question Type: Free Text
Date Added: Wed 15th Sep 2021
Last Modified: N/A
QID#: 29,024,965

Correctly answered feedback
2.50x4=10 
48÷5=9r3 
9x10=90 
3x2.50=7.50 
90+7.50=97.50

Incorrectly answered feedback
2.50x4=10 
48÷5=9r3 
9x10=90 
3x2.50=7.50 
90+7.50=97.50
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 Answers |  Edit  |  Duplicate  |  Used In |  Reorder Remove From Test

Question 15  Primary 5 Maths » Primary 5 Maths (Term 2) 1 pt

Accepted answers:

week 9

9

Question Type: Free Text
Date Added: Wed 15th Sep 2021
Last Modified: N/A
QID#: 29,024,972

Correctly answered feedback
60-15=45 
45÷5=9

Incorrectly answered feedback
60-15=45 
45÷5=9

 Answers |  Edit  |  Duplicate  |  Used In |  Reorder Remove From Test

Question 16  Primary 5 Maths » Primary 5 Maths (Term 2) 1 pt

b) How much will Ravi save in week 30?

Accepted answers:

$165

$ 165

165
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Question Type: Free Text
Date Added: Wed 15th Sep 2021
Last Modified: N/A
QID#: 29,024,978

Correctly answered feedback
30x5+15=165

Incorrectly answered feedback
30x5+15=165

 Answers |  Edit  |  Duplicate  |  Used In |  Reorder Remove From Test
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